ANATOMY & PHYSIOLOGY:  THE HEART          OUTLINE FOR NOTES
HEALTH CARE CAREERS



    NAME:  _________________________________
1.  The ________________________ is a part of the body’s cardiovascular system, and a hollow, muscular pump that circulates blood through the body.  It is slightly larger than a man’s fist, and about 3300 grams in weight. It is located slightly to the left of the midline of the body, and is pear-shaped.
2.  The heart has 3 layers.  


The ___________________________________ is the inner lining of the heart. 

 The ___________________________________is the muscular middle layer.  

The ___________________________________ is the outer membranous sac that 
surrounds the heart.
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3.  The heart has 4 chambers:  

The ______________   _______________receives blood from all body parts except the lungs. The blood travels in via two large veins… the superior and inferior vena cava. 
The blood leaves the right atrium through the tricuspid valve at the bottom of the chamber, and enters the right ventricle.

The ______________  _____________________ is the lower right chamber of the heart. The right ventricle pumps blood out through the pulmonary valve into the pulmonary artery to the lungs. The right ventricle is separated from the left ventricle by a partition called the septum. 
When the blood returns to the heart from the lungs, it enters the
 upper _____________  ______________ and is fully oxygenated.  It leaves the left atrium through the bicuspid or mitral valve, into the left ventricle.  Both atrium chambers together are referred to as the atria.

The ________  _____________________ pumps blood out through the aortic valve into the large aorta artery… and out to the rest of the body. All valves of the heart close to prevent backflow. The right ventricle is separated from the left ventricle by a partition called the septum. 
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4.  The __________________________  ___________  (SA Node) (sī-nō-Ā-trē-ul) is called the pacemaker of the heart. It is controlled by the brain stem, and generates electrical impulses at the rate of 60-100 impulses per minute.  Those impulses are distributed to the right and left atria… causing them to contract.

5.  The _______________________________  __________ (AV Node)  (ā-trē-ō-ven-trik-y ə-lər) slightly delays the impulses from the sinoatrial node, so the atria finish contracting before the ventricles start contracting.  

6.  THE _______________  ____  ________ (hĭs), conducts the electrical impulses through the heart.  It extends from the AV node into the septum between the ventricles, and then branches out to both ventricles. This 
          causes both ventricles to contract.

7.  The rate of heartbeat can be affected by various factors:

      __________________, ________________, _______________, ____________________________, 
      ____________, ________________, and  the __________________________.

      An electrocardiagram (___________ or ____________) records the hearts electrical activity and can  

      be used to diagnose abnormalities.

8.  Although heart failure can occur on either or both sides, it usually starts on the _________________ side first. 

_________________________failure is when the left ventricle cannot contract normally and push 
sufficient blood into circulation. The ventricle often dilates, or becomes enlarged. 


_________________________failure is when the left ventricle cannot relax normally between 
contractions, so it can’t properly fill with blood.
9.   Left-sided heart failure, or congestive heart failure (__________) leads to a buildup of fluid in the lungs 

and a shortness of breath (_____________________).

10.  Right -sided heart failure is usually the result of _________________________________________. Blood flows back into the right side of the heart causing edema of the ankles, distention of the neck veins, and enlargement of the spleen or liver. Heart failure is the most common type of cardiovascular disease.
11.  While heart __________________________ is a problem with the pumping of blood through the   

       heart, 

       a heart ________________________ is the blockage of blood to the heart muscle. This causes   

       damage to and possibly death of the muscle tissue.  It is usually the result of coronary artery 
       disease, where plaque has built up and eventually blocks the coronary artery. 

